= 1=LT=0
PCON 660
fil = B Ay Sk =

Q%;EITE ~] 711(OD) x 685(ID)%-f fﬁ:'“@ln 735 &-f




28
A5

\
s

ﬂggﬁg' PCON 660 [ﬁju\gjﬁﬂﬁtl -

]
)
PCON 660 == [+ %
1. SJp# N240 UGD660N24PCN
2. YT UPB660PCN
3. H#iFQ USP66050PCN
4. Fregd (4) UBS660PCN
5. ¥ ASQ) USP66053PCN
6. A EH N240 UCS660N24PCN
PCON 660 4L £
Sl A 681 1k | 'fl £y i 656 1 f
%ﬁ'@[ it 735k Byl 711 OD X 685 ID =+
A 1207 22°f | FFEIE 1770 ¥

PCON 660 33 i
D

TER 711 2f
ER: 683.5 L f
HEe 661.5 2 f
TEAD) 685 -f
L 105 2-f
K 195 Tf

— — ;JJ B% [’r‘” 1?% ?%Ffi N _FIJ
I i N A B I BN A I (NI e =
I I I—I Ir"—l 4 g5y 51dp 692 i 11 (a52) 5150 9082
— — P i www.pneumec.com FTHI : info@pneumec.com




